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Important Instructions
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Stating the issues associated with agricultural extension in India, discuss the role of Krishi

Vigyan Kendras (KVKs) in strengthening the national agricultural research extension system.
(Answer in 150 words) 10
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In India, the food processing sector is emerging as a high-growth and high-profit sector due to its
immense potential for value addition. Discuss. (Answer in 150 words) 10
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Explaining the concept of livestock-based Integrated Farming System (IFS), discuss its benefits.
(Answer in 150 words) 10
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While Persons of Indian Origin (P10) are spearheading entrepreneurship across the world, India

still has one of the lowest entrepreneurship rates. Discuss. Also, state the policy measures that
have been taken to increase the pace of entrepreneurship in India. (Answer in 150 words) 10
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‘Land banks’ can play a critical role in boosting the economy and promoting ease of doing
business in India. Discuss. (Answer in 150 words) 10
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The proposed amendments to the Forest Conservation Act (FCA) are not only antithetical to the

Forest Rights Act (FRA), but are also likely to delay India achieving its commitments on climate
change. Discuss. (Answer in 150 words) 10
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The problem of flooding in urban areas is not only due to overflowing rivers, but also the e

uninformed ways in which our cities are coping with urbanisation. Discuss. In this context, | this margin
mention the National Disaster Management Authority guidelines on urban floods. (Answer in 150
words) 10
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ISRO is no longer confined only to the launching of satellites, but it has been constantly enlarging
its role in development activities over the years. Discuss. (Answer in 150 words) 10
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State the reasons behind targeting of Critical Information Infrastructure (CII) by state and non-

state actors. Also, discuss the steps taken by the Indian government to secure its CII. (Answer in
150 words) 10
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Despite the strategic significance of North-East India, the region faces several security threats.
Discuss. Also, state the measures taken by the government to ensure peace and stability in the
region. (Answer in 150 words) 10
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Indian Railways has suffered from chronic under-investment, which has adversely impacted key
areas of its operations. In this context, discuss the challenges faced by the railways in speedy

creation of infrastructure. Also, mention the steps taken by the government in this regard.
(Answer in 250 words) 15
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A disruptive approach to research & development (R&D), with a focus on last mile obligations of
the agricultural system is necessary to realize India's objective of doubling farmer's income.
Discuss. (Answer in 250 words) 15
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India’s power distribution companies and electrical grids must undergo reforms to transition from
fossil fuels to more sustainable forms of renewable energy. Discuss. (Answer in 250 words) 15
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The practice of input-intensive agriculture in India needs a massive overhaul due to its

unsustainability and negative consequences. In this context, discuss the significance of Low
External Input Sustainable Agriculture (LEISA). (Answer in 250 words) 15
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15.

I &1 # ST IPCC #it &1 s a1 (ARG) — 2021 T #raaT & forw ‘e T /a1 17

2| o w2 §, W w9 ey 39 gu g fravd # s f w2 G R i fese
ifsrm wrr &, 7 {9 grT e suErens surEt 7 oft gefag fifsm (39 250 9= §
3)

The recently released IPCC Sixth Assessment Report (AR6) — 2021 has been deemed as ‘code
red’ for humanity. In this context, discuss the various concerns raised in the report with special
focus on India. Also, enlist the remedial measures given by the report. (Answer in 250 words) 15
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16.

7t e AT F A7 FemETraa § i e % 7 TEEiaE e 9d § gaiArd

TATaAT (HAZCHEM) 21T 3easr STt &7 e § a7 ) 38 3ievd, sea # Tarias
HTTET YEUT (COM) #1 dafeat ¥ aro-amg T =y w0t 1 ff fBa=am fifsm (397 250
aTea1 § 3)

Multiple chemical disasters from the Bhopal gas tragedy to gas leak in Visakhapatnam have
brought into focus the risks posed by hazardous chemicals (HAZCHEM) in India. In view of this,

discuss the preparedness as well as gaps in Chemical Disaster Management (CDM) in India.
(Answer in 250 words) 15

CAeme ek M@@u_s

4 (WW 9 wre Lk I/Si—\?%

( kaauaﬁazw TR0 e N S
i pe g i it
enig Bhopel g Tgay
e DL N Sl
() Ahwctina] mentnes

> Indtwolrld sl cew

= Neras (g At?rkj"’ @Z ’f‘f’fj’{m

Cheny Calp e
(£ N thwcdea| Measures

Tt pdnlone manegmnt

rilln  Semigh  Cavormnitl

Econi]
¥ i §
w8 fore
=ffee
Candidates
must not
write on
this margin






| (9 lack_ ﬁg fwl@fab& /ﬁulhﬁjé i)
‘ o i J’O‘*“x ,
— NGT  wsed adso (it %/t]

—_—

/(;W/Lff‘ﬁa 15 Qo{jww@j Lj
ProsemeNE .

(0 Catk. q Kehotdibatzz, el

(w
) CVWOQﬂiiEWUL{4c£, g;\zgffkffj:f;_zf*ihaé
i(;;\g Cmeles PLfAvf'(ﬁzcrb 7Lm/

i

BETTAT
Hig




17.

AT H9ar sgaear ¥ g49 ¥ ggeaqu qei F1 35147 21 Ea=a fifso (397 250 9=t 7 7)
The growing demand for liberalisation of public health-related goods and services amidst the

pandemic has raised critical issues with regard to the current intellectual property regime.
Discuss. (Answer in 250 words) 15
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18.

qred # 7 ST F e # sv-gvan gt F v sevarft s 9T g

ST B, 39 IUTAT F qATH ST S @ a7 § wefiweor £ afq v A7 w7 w9 § (3
250 9r=ai # @)

Highlighting the reasons behind suboptimal results in indigenization of defence technologies in
India, suggest measures which can accelerate the pace of indigenization in the defence sector.

(Answer in 250 words) 15
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19.

st drarat £ 7ar ¥ fro Rl S g 1fom 3wt £ s F @ F 7 W
=t AT AT &, A v qear R w7 § T a9t F FEEr 97 6 g e (39
250 ¢r=ai # %)

Discuss the factors behind conceptualization of different Central Armed Police Forces for

guarding the international borders. Also, highlight the contribution of these forces in ensuring
security of India. (Answer in 250 words) 15
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20.

" e v (et ) AR F R s aReRr F ger § aa §, s g

a7 ==t $frm ama &, 397 quwrews syt &1 ft I i, Sy srarlt afEaa ®
ITART § ToTo ST F1 FH FTA H [0 FYATT ST TS 21 (I 250 a1 # 2)
Discuss the vulnerability of virtual assets in terms of their misuse for money laundering activities.

Also, state corrective measures that can be taken to mitigate the risks posed by the use of virtual
assets. (Answer in 250 words) 15
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